Missing Numbers

I can solve missing number calculations involving all four operations.

Calculate the missing number in these calculations.

1) 1 5 9 6)
+ 4 8 8
7 4 7
2) 7 6 3 7 7)
+ 1 9
7 7 7 é
3) 9 4 3 8)
+ 7 7
| 0 | | S
4) 5 5 5 9)
+ 2 7
é ) 2 2
5) 3 2 7
+ 8 8
4 | 7 S
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Missing Numbers Answers

Question Answer

Calculate the missing number in these calculations.

11259 + 438 = 1747 18 [ 1277 + 3 =452 r2
2| 7637 +139 = 7776 19 | 2270 = § = $67 r2
319432 +677=10011S 20| 2179 = 4 = 24] rS

4| $555 + 627 = 6132

5| 3277 + 298 = 4178

6| 506 - 54 =452

7386 -94 =292

817085 -35=670

9| 760 - 4 = 706

10 | 429 - 60 = 369

11| 206 x 2 = 4)2

12 | 260 x § = 1040

13| 2985 x 4§ = 180

14 | 209 x § = 836

15 | 3857 x 4 = 1428

16 | 744 < 6 = 124

17 | 2920 =~ 2 = 368
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Missing Numbers

I can solve missing number calculations involving all four operations.

Calculate the missing number in these calculations.

1) 3 5 1 5 6 6) 8 1 4
+ 3 o 7 1 - 8 5 8
4 1 3 2 2 7 7 4 6 3 s
2) 3 6 3 2 5 7) 3 8 8 9
+ 2 3 9 0 - 9 0
3 9 3 2 3 3 3 ¢ 6 o 9
3) 8 4 3 4 5 8) 1 1 9
+ 1 1 9 1 - 4 2 2
2 6 0 6 S 0 2 6 1 7
4) 7 1 3 0 6
+ 3 2 1 0]
7 S 72 s 1 6 |
7
5) 1 5 1 7 3 -’
+ 71 4 5 /QJ H\\)
2
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Missing Numbers Answers

Question Answer

Calculate the missing number in these calculations.

1| 3785156 + 32 07] = 413 227 18 | 8043 <+ 1S = S36 r3
2| 369325 +23 308 = 393 233 19 | 3304 <+ 14 = 236
31843489 +1719] = 360 650 20 | 6962 <+ 25 = 278 ri2

4| 714 306 + 43 210 = 757 S)é

51158173 +7] $45 = 229 718

6| 88143 - 2508 = 79 635

7|38 $39 - 3980 = 34 609

8| 1039 - 2422 = 2617

9|39 233-1624 = 37 609

10 | 10 136 - 7350 = 2736

11| 372 x3 =16

12 | 400 x § = 2000

13 | 895 x 4 = 3580

14 | 143 x 9 = 1227

15| §§7 x § = 2788

16 | 4198 =8 = $24 ré

17 | 6900 <12 = §78
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Missing Numbers

I can solve missing number calculations involving all four operations.

Calculate the missing number in these calculations.

1) 1 7 2 6 6) 5 4 8 4
+ 1 1 6 - 7 6 1
! 4 9 3 b4 é S | 4 S 4 7
2) 8 8 5 3 7) 4 0 9 7
+ 5 6 4 - 0 8 8
9 7 7 3 o | 3 1 6 4 2 ¢
3) 1 3 1 4 8) 17 1 7
+ 6 5 7 - 7 5 9
) S 6 7 1 S g8 7 6 6 0
4) 4 8 2 8
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& 9) 6 5 4 1 13) 2 2
w
- 9 4 8 x 6 4
s 8 o 8 2 6 ) 7 2 8 32

10) 47 0 &4
- 1 3 4
4 0 ¢ 3 s 7 14) 9 8 1 5
X
11) 9 5 3
s 8 2 9 o
x 6

15) 2 5
x 6 6
12) 2 1
)17 1 3 0
x 2 6

visit twinkl.com



* % %
L.

r
16) 1 8‘ 6 2 6
3 s

17) 2 1‘ 5 8
2 4 s
18) ‘7 1 0 5
2 3
19) ‘8 4 1 6
é s 2

r
20) ‘9 1 4 0
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Missing Numbers Answers

Question Answer

Calculate the missing number in these calculations.

1| 177 7226 + 1) 660 =189 336 18 | 72108 =+ 29 = 24S
2| 88) $37 + 35 764 = 377 30] 19 | 8416 + 32 = 263
3 (130142 + 26 $67 =156 71§ 20| 9140 =14 = 652 r12

4| G08 628 + 17 614 = 426 242

5702750 + 87 $97 = 790 347

6| 599784 -76 197 = S13 $87

7| 406 972 - 90 422 = 316 424

8| 1785179 - 87 S19 = 87 660

9| 6785 64] - 34 31S =580 326

10 | 4785 704 - 7] 347 = 404 387

11 | 9593 x 36 = 34S 348

12 | 2612 x 26 = 67 412

13 | 4322 x 64 = 276 602

14 | 9815 x $6 = $49 640

15 | 2855 x 66 = 132 430

16 | 6626 <~ 18 = 368 r2

17 | 72818 = 2] = 352
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